EE3610 Signals and Systems Spring 2009

Midterm Exam II
May 19, 2009
Instructor: Chin-Liang Wang
1. Compute and sketch the Fourier series coefficients of the following signal:
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(Label your axes clearly and carefully!)

2. Determine the output signal of the system y(t) if the impulse response of the

system h(t)=e"u(~t) and the input signal x(t)=e"u(~t) for i ls
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3. Consider an LTI system with frequency response H (@)= ; A
. otherwise

Determine the output y(t) if the input is x( Z sm 2kt (10%)
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4. Evaluate the quantities for following signal:
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